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Cost and Management Accounting

Paper - MCOM-08
Time : 3 Hours ]	 [ Max. Marks :- 80

Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is separation rate method of labour turnover?

		  l‘ {ZH$mgr H$s n¥W³H$aU Xa {d{Y go ³¶m Ame¶ h¡?
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	 (ii)	 What is meant by Job costing method?
		  CnH$m¶© bmJV {d{Y go ³¶m Ame¶ h¡?

	 (iii)	 A bus runs 90,000 kms. in a year. One litre diesel is 
required for 12 kms. and the cost of diesel per liter is 
Rs.10, calculate cost of diesel.

		  EH$ ~g df© ‘| 90,000 {H$.‘r. MbVr h¡& 12 {H$.‘r OmZo Ho$ {bE 
EH$ brQ>a S>rOb H$s Amdí¶H$Vm n‹S>Vr h¡& S>rOb H$s bmJV kmV 
H$s{O¶o&

	 (iv)	 What do you understand by ‘Cash Budget’?
		  amoH$‹S> ~OQ> go Amn ³¶m g‘PVo h¢?

	 (v)	 What do you mean by Trend analysis?
		  àd¥{Îm {díbofU go Amn ³¶m g‘PVo h¢?

	 (vi)	 What is inventory turnover ratio? Give formula.
		  ñH$ÝY AmdV© AZwnmV ³¶m h¡? gyÌ Xr{O¶o&

	 (vii)	Find out required sales when fixed cost is of Rs. 20,000, 
desired profit is Rs. 10,000 and BEP is Rs. 40,000.

		  ¶{X pñWa bmJV 20,000 é., Mmhm J¶m bm^ 10,000 é. hmo Ed§ 
g‘ {dÀN>oX {~ÝXw 40,000 é. na àmßV hmoVm hmo Vmo {H$VZm {dH«$¶ 
H$aZm Amdí¶H$ hmoJm?

	 (viii)	What do you understand by ‘Activity Based costing 
method’?

		  ""[H«$¶m AmYm[aV bmJV {d{Y'' go Amn ³¶m g‘PVo h¢?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.
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IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 From the following details, calculate the labour cost chargeable 

to job no. 875 in respect of an employee who is paid according 

to :

	 {ZåZ{b{IV {ddaU go CnH$m¶© g§»¶m 875 H$mo EH$ H$‘©Mmar Ho$ g§~§Y ‘| 
{Ogo {ZåZmZwgma ^wJVmZ {H$¶m OmVm h¡, MmO© hmoZo ¶mo½¶ l‘-bmJV kmV 
H$s{O¶o&

	 (i)	 The Rowan scheme / amodZ ¶moOZm
	 (ii)	 Halsey 50% scheme / hmëgo 50% ¶moOZm
	 Time allowed : 5 Hours 30 minutes

	 Time Taken : 4 Hours 25 minutes

	 Rate of Payment : Rs. 30 per hour

3)	 What do you mean by ‘Absorption of overheads’? Differentiate  

between Absorption and Apportionment of overheads.

	 Cnarì¶¶m| Ho$ AdemofU go Amn ³¶m g‘PVo h¢? Cnarì¶¶m| Ho$ AdemofU 
VWm {dVaU ‘| ³¶m AÝVa h¢?

4)	 Distinguish between / {ZåZ ‘| AÝVa ñnîQ> H$s{O¶o&
	 (i)	� Absolute Tonne Kilometer and Commercial Tonne 

kilometer.	

		  n[aewÕ Q>Z {H$bmo‘rQ>a Ed§ dm{UpÁ¶H$ Q>Z {H$bmo‘rQ>a
	 (ii)	 Fixed budget and Flexible budget	

		  pñWa ~OQ> Ed§ bmoMXma ~OQ>
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5)	 Write explanatory notes on following:

	 {ZåZ na ì¶m»¶mË‘H$ {Q>ßn{U¶m§ {b{I¶o&
	 (i)	 Machine Hour rate / ‘erZ K§Q>m Xa
	 (ii)	 Zero Base Budgeting / eyÝ¶ AmYma ~OQ>Z

6)	 Discuss the various phases of Decision making.

	 {ZU©¶Z H$s à{H«$¶m Ho$ {d{^ÝZ MaUm| H$mo g‘PmB¶o&

7)	 From the summary cash account of X Ltd, Prepare cash flow 
statement for the year ended 31st March 2010.

	 E³g {b{‘Q>oS> Ho$ g§{jßV amoH$‹S> ImVo go 31 ‘mM© 2010 H$mo g‘mßV hmoZo 
dmbo df© Ho$ {bE amoH$‹S> àdmh {ddaU V¡¶ma H$s{O¶o&

Summary Cash Account

For the year ended 31.3.2010

Rs. Rs.

Balance on 01.04.2009 50,000 Payment to suppliers 20,00,000

Issue of equity shares 3,00,000 Purchase of fixed assets 2,00,000

Receipts from customers 28,00,000 Overhead Expenses 2,00,000

Sale of fixed Assets 1,00,000 Wages and salaries 1,00,000

Income tax 2,50,000

Dividend 50,000

Repayment of Bank loan 3,00,000

Balance as on 31.03.2010 1,50,000

32,50,000 32,50,000

8)	 Write short notes on following: {ZåZ na g§{jßV {Q>ßn{U¶m§ {b{I¶o&
	 (i)	 Comparative statements / VwbZmË‘H$ {ddaU
	 (ii)	 Common - size statements / g‘mZmH$ma {ddaU
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9)	 The sales manager of Balaji Ltd. expects to sell 40,000 units 
of a certain product. Two kinds of Raw material A and B are 
required for manufacturing the product. Each unit of product 
requires 2 units of A and 3 units of B.

	 ~mbmOr {b{‘Q>oS> H$m {dH«$¶ à~§YH$ EH$ {ZpíMV CËnmX H$s 40,000 
BH$mB¶mo§ H$mo ~oMZo H$s Anojm H$aVm h¢& CËnmX H$mo {Z{‘©V H$aZo ‘| A VWm 
B gm‘J«r H$s Amdí¶H$Vm hmoJr& CËnmX H$s àË¶oH$ BH$mB© ‘| gm‘J«r A VWm 
B H«$‘e… 2 VWm 3 BH$mB¶m± à¶w³V hmo§Jr&

	 Estimate of stock of materials for budget period is as follows:

	 ~OQ> Ad{Y Ho$ {bE gm‘J«r Ho$ ñQ>m°H$ H$m AZw‘mZ {ZåZ àH$ma h¡…
Finished 

Stock

({Z{‘©V ‘mb)
(Units)

Material A

(gm‘J«r A)
(Units)

Material B

(gm‘J«r B)
(Units)

On 1st April 2009 8,000 9600 12,000
On 31st March 2010 11,200 10,400 12,800

	 Draw up the purchase budget for the year 2009-2010.

	 df© 2009-10 Ho$ {bE H«$¶ ~OQ> V¡¶ma H$s{O¶o&	

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
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10)	 Define process costing. Explain normal wastage, abnormal 
wastage and abnormal effectives. How should these be dealt 
within process accounts.

	 à{H«$¶m bmJV boIm§H$Z H$s n[a^mfm Xr{O¶o& gm‘mÝ¶j¶, Agm‘mÝ¶ j¶ 
VWm Agm‘mÝ¶ ~MV H$mo g‘PmBE& à{H«$¶m ImVm| ‘| BZHo$ gmW H¡$go 
ì¶dhma {H$¶m OmVm h¢?

11)	 (i)	� Daily consumption of a material is 32 to 40 units per day. 
It takes 30 to 40 days in receipt of material and Re-order 
quantity is 2000 units. What will be (a) Re-order level  
(b) Minimum stock level and (c) Maximum stock level

		�  ¶{X {H$gr gm‘J«r H$m Cn¶moJ 32 go 40 BH$mB© à{V{XZ h¡ Am¡a Cgo 
àmßV H$aZo ‘| gm‘Ý¶ VWm 30 go 40 {XZ bJVo h¢ VWm nwZAm©Xoe 
‘mÌm 2000 BH$mB¶m§ h¡ Vmo kmV H$s{O¶o - (A) nwZAm©Xoe ñVa 

		  (~) Ý¶yZV‘ ñQ>m°H$ ñVa (g) A{YH$V‘ ñQ>m°H$ ñVa

	 (ii)	� Sam Ltd. has a current ratio of 4.5 : 1 and a quick ratio of 
3 : 1. If its inventory is Rs. 72,000, find out its total current 
assets and current liabilities.

		�  g¡‘ {b{‘Q>oS> H$m Mmby AZwnmV 4.5 … 1 VWm Ëd[aV AZwnmV 3 … 1 
h¡& ¶{X BgH$m ñH$ÝY 72000 ê$. hmo Vmo BgH$s Hw$b Mmby gån{Îm¶mo 
Ed§ Mmby Xm{¶Ëdm| H$mo kmV H$s{O¶o&

12)	 Explain material cost variances and labour cost variances 
giving examples.

	 gm‘J«r bmJV {dMaUmo Ed§ l‘ bmJV {dMaUmo H$mo CXmhaU H$s ghm¶Vm go 
g‘PmB¶o&

13)	 ‘‘Write an essay on the ‘‘Role of cost and Management 
Accounting’’ in the proper management of a business.

	 ""bmJV Ed§ à~ÝY boIm§H$Z H$m ì¶dgm¶ Ho$ C{MV à~ÝY na'' boI 
{b{IE&


